Share exchange ratio (9,09,009/50 lakh)=0.1818:1or 1.558
For every 5.5 shares of Firm T, 1 share in Firm A will be issued. This is the lowest exchange ratio acceptable to
shareholders of Firm T. Any ratio lower than this will decrease their existing wealth of Rs 10 crore.

(i) Upper limit (based on total gains accruing to shareholders of Firm T)

Total market value of the merged firm Rs 120.01
Less: Pre-merger (or minimum post-merger) value acceptable to the
- shareholders of Firm A 100.00
Maximum acceptable post-merger market value of Firm T 2001

Since post-merger market value of Firm A remains unchanged at Rs 100 crore
(and 50 the number of its shares (100 lakh}and MPS of Rs 100), number of
equity shares required to be issued in Firm A to have a MPS of Rs 100 and to
have a post-merger value of Rs 20.01 crore of Firm T (Rs 20.01 crore/

Rs 100 MPS) ) 20,01,000 shares
Existing number of equity shares outstanding in Firm T 50 lakh
Share exchange ratio (20,01,000/50 lakh) = 0.4002:1 or 1.25

For every 2.5 shares of Firm T, 1 share in Firm A will be issued. This is the upper most exchange ratio acceptable
to shareholders of Firm A as any ratio higher than this will dilute their existing wealth of Rs 100 crore.
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[7] The firm has 12 different items in its inventories. Classify the items in to
ABC category as per their importance.
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P.33.14 The following information is provided related to the acquiring firm A Ltd. and the target firm T Ltd:

Particulars Firm 4 FirmT
EAT (Rs lakh) 1,000 200
Number of shares outstanding (in lakh) 100 50
EPS (Rs) . 10 4
PJ/E ratio (times) 10 5
MPS (Rs) 100 20

(a) What is the swap ratio based on current market prices?
(b) What is the EPS of A Ltd after acquisition?

(c) What is the expected market price per share (MPS) of A Ltd after acquisition, assuming P/E ratio of

Firm A remains unchanged.
(d) Determins the market value of the merged firm.

(e) Calculate gain/loss for shareholders of the two independent companies, after acquisition.

(f) Determine the upper and lower limits for swap ratio beyond which the two firms would not go for the :

acquisition/merger.
Solution

(a) Exchange ratio based on market prices = Rs 20/Rs 100 = 0.2:1. For every one share of Firm T, 0.2
share will be issued in Firm A. Based on this ratio, the number of new shares issued by Firm T will be

=50 lakh x 0.2 = 10 lakh.
{b) EPS after the merger (EPSc)==Rs 10.91
(c) Expected MPS after merger = Rs 10.91 x 10 = Rs 109.10

(d) Market value of merged firm = Rs 109.10 MPS x 110 lakh shares = Rs 120.01 crore.

(e) Gaius from the merger (Rs crore)

Post-merger market value of the firm
Less:  Pre-merger market value:
Firm A (100 lakh shares x Rs 100 MPS) Rs 100
Firm T (50 lakh shares x Rs 20 MPS) 10
Gains from merger

Rs 120.01

110.00
10.01

Apportionment of gains from merger among shareholders

(Rs crore)

Firm A:
Post-merger market value (100 lakh shares x Rs 109.10 MPS)
Less: Pre-merger market value
Gains to the shareholders of Firm A
Firm B:
Post-merger market value (10 lakh shares x Rs 109.10)
Less: Pre-merger market value
Gain to the shareholders of Firm T

109.10
100.00
9.10

10.91
10.00
0.91

{f) Determination of upper limit and lower limit of share exchange ratio

~(Rs crore)

(i) Lower limit (based on total gains accrumg to shareholders cf Flrm /ﬁ%

Total market value of the merger firm
Less: Pre-merger (or minimum post-merger) value acceptable to
shareholders of Fin Jj 5

Maximum acceptable post-merger market value of Firm A

Divided by the number of equity shares outstanding in Firm A

Post-merger MPS (Rs 110.01 crore/100 lakh) ——

Number of equity shares required to be issued in Firm A to have the desired

MPS of Rs 110.01 and to have a post-merger value of Rs 10 crore of Firm T,

thatis, (Rs 10 crore/Rs 110.01) = 9,09,008.27

Existing number of equity shares of Firm T

Rs 120.01 v

(10.00) =
110.01 =
100

> 11001

-
9,09,009 shares
50




Share exchange ratio (9,09,009/50 lakh) = 0.1818: 1or ~ 1.55
For every 5.5 shares of Firm T, 1 share in Firm A will be issued. This is the lowest exchange ratio acceptable to
shareholders of Firm T. Any ratio lower than this will decrease their existing wealth of Rs 10 crore.
(iiy Upper limit (based on total gains accruing to shareholders of Firm T)

Total market value of the merged firm Rs 120.01
Less: Pre-merger (or minimum post-merger) value acceptable to the

shareholders of Firm A 100.00

Maximum acceptable post-merger market value of Firm T 2001

Since post-merger market value of Firm A remains unchanged at Rs 100 crore
(and so the number of its shares (100 lakh) and MPS of Rs 100), number of
equity shares required to be issued in Firm A to have a MPS of Rs 100 and to
have a post-merger value of Rs 20.01 crore of Firm T (Rs 20.01 crore/

Rs 100 MPS) ; 20,01,000 shares
Existing number of equity shares outstanding in Firm T 50 lakh
Share exchange ratio (20,01,000/50 lakh) = 0.4002:1 or 1.25

For every 2.5 shares of Firm T, 1 share in Firm A will be issued. This is the upper most exchange ratio acceptable
to shareholders of Firm A as any ratio higher than this will dilute their existing wealth of Rs 100 crore.




